Information in Tables

Sarah asked all the children in Year 3,

“Did you walk to school today?”

The diagram shows her results.

	
	Boys
	Girls

	Walked
	19
	25

	Did not walk
	27
	23


Sarah says

“More children walked than did not walk.”

Is she correct?  Circle yes or no.

Yes/No

Explain how you know.

Sarah asked all the children in Year 3,

“Did you walk to school today?”

The diagram shows her results.

	
	Boys
	Girls

	Walked
	31
	12

	Did not walk
	23
	16


Sarah says

“More children walked than did not walk.”

Is she correct?  Circle yes or no.

Yes/No

Explain how you know.

Sarah asked all the children in Year 3,

“Did you walk to school today?”

The diagram shows her results.

	
	Boys
	Girls

	Walked
	12
	7

	Did not walk
	16
	5


Sarah says

“More children walked than did not walk.”

Is she correct?  Circle yes or no.

Yes/No

Explain how you know.

